

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. GBB 9603S

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	N/S FRONT DOOR	BUCKLED	950.00	950.00
1	N/S FRONT DOOR OUTER ARCH GARNISH	BUCKLED	150.00	150.00
2	N/S FRONT DOOR HINGES (TOP / LOWER) @\$120.00	BENT	240.00	240.00
1	N/S FRONT DOOR CHECKER	BENT	115.00	115.00
1	N/S FRONT DOOR STEP GARNISH	CRACKED	240.00	240.00
1	N/S FRONT DOOR WEATHERSTRIP	CUT	140.00	140.00
1	N/S FRONT DOOR FRAME WEATHERSTRIP	DENTED	130.00	130.00
1	N/S FRONT DOOR GLASS	BROKEN	165.00	165.00
1	N/S FRONT DOOR GLASS CHANNEL	DISTORTED	190.00	190.00
1	N/S FRONT DOOR GLASS RAILING	DISTORTED	80.00	80.00
1	N/S FRONT DOOR REGULATOR AND MOTOR	BENT	540.00	540.00
1	N/S FRONT DOOR OUTER MOULDING	BUCKLED	80.00	80.00
1	N/S FRONT DOOR OUTER VERTICAL GARNISH - FRONT	MISSING	100.00	100.00
1	N/S FRONT DOOR LOCK	JAMMED	265.00	265.00
1	N/S FRONT DOOR LOCK CATCH	DENTED	45.00	45.00
1	N/S FRONT DOOR LOCK SWITCH	CRACKED	65.00	65.00
1	N/S FRONT DOOR OUTER PULL HANDLE	DISTORTED	80.00	80.00
1	N/S FRONT DOOR INNER TRIMBOARD	CRACKED	580.00	580.00
1	N/S FRONT DOOR INNER PULL HANDLE	DISTORTED	120.00	120.00
1	N/S FRONT DOOR INNER HANDLE RAILING	DISTORTED	180.00	180.00
1	N/S FRONT DOOR POWER WINDOW CONTROL PANEL	MTG CRACKED	360.00	360.00
1	N/S FRONT DOOR OUTER VERTICAL GARNISH - REAR	MISSING	55.00	55.00
1	N/S DOOR 'A' PILLAR	BENT	1,050.00	1,050.00
1	N/S DOOR 'A' PILLAR INNER	BENT	950.00	950.00
1	N/S WINGMIRROR-BIG	CRACKED	80.00	80.00
1	N/S WINGMIRROR-ROUND	MISSING	60.00	60.00
1	N/S WINGMIRROR-STAY	BENT	180.00	180.00
1	N/S WINGMIRROR STAY CAP COVER	MISSING	35.00	35.00
1	N/S WINGMIRROR STAY INNER COVER	MISSING	55.00	55.00
1	FRONT WIPER PANEL GARNISH-BIG	WARPED	175.00	175.00
1	N/S FRONT WIPER PANEL GARNIS-SMALL	MISSING	45.00	45.00

Report Ref No. CS/LPC21000307/Ktd3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	FRONT PANEL	BENT	1,000.00	1,000.00
1	N/S FRONT CORNER PANEL	BENT	240.00	240.00
2	HEADLAMP (LH&RH) @\$340.00	N/S MTG CRACKED	680.00	340.00
2	HEADLAMP LOWER RUBBER LID (LH&RH) @\$9.50	N/S DISTORTED	19.00	9.50
2	FRONT SIDE REFLECTOR (LH&RH) @\$65.00	N/S CRACKED	130.00	65.00
2	FRONT SIGNAL LAMP (LH&RH) @\$130.00	N/S BROKEN	260.00	130.00
1	FRONT WINDSCREEN GLASS	SHATTERED	480.00	480.00
1	FRONT WINDSCREEN GLASS RUBBER	DENTED	195.00	195.00
1	N/S FRONT WINDSCREEN PILLAR INNER GARNISH	CRACKED	195.00	195.00
1	WIPER WASHER TANK AND MOTOR	DENTED	145.00	145.00
1	N/S FRONT WINDSCREEN PILLAR INNER HANDLE	SERVICEABLE	140.00	-
1	O/S FRONT DOOR	TO REPAIR SEE LABOUR	950.00	-
1	O/S FRONT DOOR LOCK	TO REPAIR SEE LABOUR	265.00	-
1	ROOF TOP PANEL REINFORCEMENT-FRONT	BENT	600.00	600.00
1	ROOF TOP TRIM LINING	DEFORMED	1,200.00	1,200.00
1	DASHBOARD ASSY	BUCKLED / CRACKED	1,550.00	1,550.00
1	DASHBOARD REINFORCEMENT	DISTORTED	195.00	195.00
1	N/S DASHBOARD GLOVE COMPARTMENT	DISTORTED	260.00	260.00
1	DASHBOARD CENTRE CONSOLE	CRACKED	380.00	380.00
1	DASHBOARD AIR CON CONTROL PANEL	SERVICEABLE	1,800.00	-
1	DASHBOARD METER	MTG CRACKED	2,400.00	2,400.00
1	O/S DASHBOARD METER CONSOLE	DISTORTED	260.00	260.00
1	O/S DASHBOARD SIDE GARNISH	DISTORTED	125.00	125.00
4	DASHBOARD AIR CON LOURVES @\$85.00	SERVICEABLE	340.00	-
4	DASHBOARD AIR CON LOURVES INNER DUCT @\$100.00	SERVICEABLE	400.00	-
1	DASHBOARD INNER FUSES & RELAY BOX	SERVICEABLE	480.00	-
1	N/S DASHBOARD LOWER GARNISH	DISTORTED	165.00	165.00
1	FRONT HAND GEAR LEVER COVER	SERVICEABLE	265.00	-
2	FRONT WIPER BLADE (LH&RH) @\$95.00	SERVICEABLE	190.00	-
1	AIR CON BLOWER }	HOUSING CRACKED	1,650.00	1,650.00
1	AIR CON COOLING COIL }		-	-

Report Ref No. CS/LPC21000307/Ktd3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	AIR CON HEATER UNIT }		-	-
1	AIR CON DISCHARGE PIPE	SERVICEABLE	340.00	-
1	AIR CON SUCTION PIPE	SERVICEABLE	340.00	-
1	RADIATOR	HOUSING CRACKED	1,250.00	1,250.00
1	RADIATOR FAN COWLING	SERVICEABLE	165.00	-
1	RADIATOR FAN BLADE	SERVICEABLE	140.00	-
1	RADIATOR FAN CLUTCH	SERVICEABLE	340.00	-
2	ENGINE MOUNTING (LH&RH) @\$130.00	SERVICEABLE	260.00	-
1	GEARBOX MOUNTING	SERVICEABLE	110.00	-
	COST PLUS 15%		4,110.60	3,050.18
			31,514.60	23,384.68
	SPECIAL NETT ITEMS			
1	N/S FRONT DOOR ROC STICKER (SN)	NECESSARY	15.00	15.00
1	N/S FRONT DOOR INNER SPEAKER (SN)	SERVICEABLE	120.00	-
1	FRONT PANEL BEAT INSULATION (SN)	NOT NECESSARY	150.00	-
1	ERP BRACKET (SN)	NECESSARY	26.00	26.00
1	O/S FRONT DOOR ROC STICKER (SN)	NOT NECESSARY	15.00	-
1	DASHBOARD RADIO HEADSET (SN)	SERVICEABLE	240.00	-
			566.00	41.00
	<u>LABOUR</u>			
	TO REMOVE, CUT OUT DAMAGED PARTS, PANEL BEATING, WELDING, ALIGN, REFIX AND TO RENEW AFFECTED PARTS. INCLUSIVE OF THE REPAIR OF O/S FRONT DOOR AND O/S FRONT DOOR LOCK.		2,400.00	2,000.00
	TO REMOVE AND RENEW FRONT WINDSCREEN GLASS AND CONDUCT WATER LEAK TEST.		100.00	60.00
	TO REMOVE AIRCON CONDENSER, PIPES AND DRIERS. VACUUM AND RECHARGE GAS.		100.00	100.00
	TO REMOVE DOOR'S FITTINGS.		160.00	60.00
	TO CONDUCT FRONT WHEEL ALIGNMENT TEST.	NOT NECESSARY	80.00	-
	TO REMOVE AND RENEW FRONT INSTRUMENT PANEL ASSY, TO REWIRING AND TRANSFER INSTRUMENT FITTINGS.		280.00	220.00
	TO PUTTY AND RESPRAY ON AFFECTED PORTIONS.		1,400.00	1,200.00

Report Ref No. CS/LPC21000307/Ktd3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	TO FOCUS HEADLAMPS. TO CHECK FRONT WIRING AND LIGHTING OPERATION.		50.00	20.00
			4,570.00	3,660.00
	GRAND TOTAL		36,650.60	27,085.68

RECOMMENDED COST OF LUMP SUM REPAIRS (TO ITS PRE-ACCIDENT CONDITION)		13,000.00
LESS EXCESS		-600.00
NETT LIABILITY		12,400.00

Report Ref No. CS/LPC21000307/Ktd3e2

KONG SENG CHEONG

Licensed Appraiser